Reference: Nobel Prize in Physics
Difficulty: easy
Learning Objective: None 

Contest: 1999
The 1998 Nobel Prize in Physics went to Laughlin, Stormer and Tsui for their discovery of a new form of quantum fluid with fractionally charged excitations.  The experimental data for this work was obtained at

A) Stanford Linear Accelerator Centre
B) Oak Ridge National Laboratory
C) Chalk River Nuclear Laboratories
D) Lawrence Livermore National Laboratory
E) Bell Laboratories
Answer: A
Reference: Nobel Prize in Physics
Difficulty: easy
Learning Objective: None 

Contest: 2000
The 1999 Nobel Prize in Physics was awarded jointly to Gerardus ‘t Hooft and Martinus J.G. Veltman, for their work in renormalizing non-abelian gauge theories. Which area of Physics is this most closely associated with?
A) Cosmology
B) Optoelectronics
C) High-Temperature Superconductivity
D) General Relativity
E) High-Energy Physics
Answer: E
Reference: Nobel Prize in Physics
Difficulty: moderate
Learning Objective: None 

Contest: 2001
Half of the 2000 Nobel Prize in physics was awarded to Jack S. Kilby for his pioneering work in semiconductor technology which led to the development of integrated circuits, making it possible to pack thousands of devices onto a single silicon “chip”.  Since the first ICs, development seems to have followed Moore’s Law, which predicts that the number of components will double every eighteen months.  For every component on a chip in 1960, about how many components would we expect to find in the year 2000?
A) 27

B) 40

C) 108
D) 1027
E) 1040
Answer: C
Reference: Nobel Prize in Physics
Difficulty: easy
Learning Objective: None 

Contest: 2002
The 2001 Nobel Prize for physics was awarded for creating a new state of matter called a Bose-Einstein Condensate BEC with far-reaching potential for smaller and faster electronics and ultra-precise measuring instruments.  In what year was the experiment that first produced BEC done?

A) 2001

B) 1999

C) 1995

D) 1924

E) 1901

Answer: C
Reference: Nobel Prize in Physics
Difficulty: easy
Learning Objective: None 

Contest: 2003
The Nobel Prize for Physics in 2002 has been awarded to three scientists for their research in X-ray astronomy and neutrinos. Which of the following names is connected with the X-ray telescope?
A) Kamiokande

B) Chandra

C) CHARA

D) SNO

E) CERN

Answer: B
Reference: Nobel Prize in Physics
Difficulty: easy
Learning Objective: None 

Contest: 2004
The Nobel Prize in physics for 2003 was awarded for contributions to the theory of superconductors and superfluids.  Which of the following statements is NOT correct?

A) Superconductivity was first observed in mercury about 100 years ago.

B) If superfluid helium is put in an open container it will travel up the sides of the container and travel out over the top.

C) Type-1 superconductors exhibit very strong diamagnetism and are explained by the famous BCS theory which suggests that electrons team up in pairs.

D) Copper, silver and gold are not only excellent conductors but also superb superconductors.

E) In type-2 superconductors, superconductivity and magnetic flux can co-exist allowing for many technical applications.

Answer: D
Reference: Nobel Prize in Physics
Difficulty: easy
Learning Objective: None 

Contest: 2005
Americans David J. Gross, H. David Politzer and Frank Wilczeck won the 2004 Nobel Prize in physics for the discovery of asymptotic freedom in the theory of

A) the electromagnetic force.

B) the gravitational force.

C) the weak force.

D) the strong force.  

E) all of the above.
Answer: D
Reference: Nobel Prize in Physics
Difficulty: easy
Learning Objective: None 

Contest: 2006
The Nobel Prize in physics for 2005 was split among three researchers. They shared a common link. All three

A) worked at Harvard University.

B) worked in the field of optics.

C) were German nationals.

D) graduated from the University of Colorado.

E) developed techniques in spectroscopy.
Answer: B
Reference: Nobel Prize in Physics
Difficulty: Moderate

Learning Objective: None
Contest: 2007

The Nobel Prize in Physics for 2006 was awarded jointly to George Smoot and John Mather for their work in analyzing cosmic microwave background radiation. This work helps to support theories concerning

A) the Big Bang.  

B) black holes.  

C) supernovas.  

D) superstrings.  

E) all of these.

Answer: A

Reference: Nobel Prize in Physics
Difficulty: Easy

Learning Objective: None F1.1

Contest: 2008

The Nobel Prize in physics for 2007 was awarded jointly to Albert Fert and Peter Grűnberg for the discovery of giant magneto-resistance. This discovery: 

A) makes possible an increase in the capacity of the hard disk in a home computer to over 1000 gigabytes.

B) will lead to superconductive devices that can operate at room temperature.

C) will increase the storage capacity of batteries used in electric cars.

D) can be used in the design of an electronic shield against nuclear missile attack.

E) can be applied to all of these.

Answer: A

Reference: Nobel Prize in Physics

Difficulty: easy

Learning Objective: None 

Contest: 2009

The Nobel Prize in physics for 2008 was shared. Half went to Yoichiro Nambu at the Enrico Fermi Institute, and the other half to Makoto Kobayashi and Toshihide Maskawa of Japan. All three worked on aspects of broken symmetry in subatomic physics. What is an example of broken symmetry?

A) During the Big Bang, more matter was produced than antimatter.

B) There appear to be exactly six kinds of quarks, as predicted.

C) The graviton, discovered in 1992.

D) The mirror symmetry that appears in the weak force.

E) The existence of photons and anti-photons.

Answer: A
Reference: Nobel Prize in Physics

Difficulty: easy

Learning Objective: None 

Contest: 2010

The Nobel Prize in physics for 2009 was shared. Half of the prize went to Willard S. Boyle and George E. Smith for the invention of the CCD sensor. What field has been revolutionized by the invention of the CCD?

A) photography

B) medicine

C) deep sea exploration

D) astronomy

E) all of these

Answer: E
Reference: Nobel Prize in Physics

Difficulty: easy
Learning Objective: None 

Contest: 2011
The Nobel Prize in physics for 2010 was awarded to Andre Geim and Konstantin Novoselov for their work with graphene. Graphene is

A) an allotrope of silicon.

B) a two-dimensional material one atom thick.

C) an array of atoms in a lattice of octagons.

D) another name for graphite.
E) All of these are true.
Answer: B
Reference: Nobel Prize in Physics
Difficulty: easy
Learning Objective: None 

Contest: 2012
The Nobel Prize in physics for 2011 was shared by three American physicists for the discovery of the accelerated expansion of the universe. What experimental technique was used in this research?
A) nuclear magnetic resonance

B) very long baseline interferometry

C) observation of distant supernovae

D) gravitational lensing around a black hole

E) eclipsing in a binary pair of stars

Answer: C
Reference: Nobel Prize in Physics
Difficulty: 

Learning Objective: None 

Contest: 

A) 

B) 

C) 

D) 

E) 

Answer: 
Reference: Nobel Prize in Physics
Difficulty: 

Learning Objective: None 
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